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71A (DollA 24 HE& 7= WA A28 Egete sheA] &b d7]R Q1 B9, A7(400) 0] W= HE
AR AFTdozEH P A= HAE(At speed Test)7HA] 71538kt},
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5¢F © 68 FastH, AAF AA(3)E HZEE §3(100), AE(200), 283 £7(400a)S 7HRITE. HAE
FH(100) A AE10)E AFe] 98 s °17Poh AAF WFE(10) 25 E95 5 28 v,
H2E §35(100)2 &9 2s=22H AAF ddE(10)Y &% o5& #=53th. HAE §FY(100)d+= A 1 5
TE(122) 2 A 2 HEE(124)0] FAFH H2E y_c(lzo)ﬂ Agdot. Al 1 H=E5(122)8 HAF dAE(10) =
4= A3 E QUEs] fa F=E ol a, Al 2 E(124)2 AA W= (10)25E &9 A5 7] 93]
T2 o] gHrt. A&7(400a)> A tdE(10) EﬂiE HE(12008 A714oz2 ddst, 522000 #A
O3E(10)& 27400a) 22 o] FAIZIT, o3t A= HEE §351(100)8] dvh#l 72 92 A5 (200)0] o
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o7 A dAst= 549 Al 1 BEB30)S 7MY, Al 1 LE(SSO)it LHTOH A 7E AlTE Ea Eo
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< A1 HEE662) A 2 A5G4S THH, &2 718(360) o= Al 1 HEE362)7 A 2 HE=E(3
4)& A7H Aste A E(Z=AIFA] Zg)ol AT, Al 2 FIE(350) ?’i] 71(360)9] Al 1 = %

o7 9
(362) 7 AAF E(10)9] Al 2 A7 DAE5(16)S AV|Hez A3 AZST). A 2 AE(3B0) 2= UFol &
AA7Y AsE Ea AEo] AMgH EP Z}Zkol A 1 $(330)9] Ak FAAF tdE(10)9] Al 2 IZ T2 (16) <}
AEFa, zbzre] A 2 W(350)9 Ehere AA 7]3H(360)¢] Al 1 H=E(362)F HERT. A 3 WE(380a)S
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oj9} e FAol s A tAE(10)9 AF dAE(12, 14)9 H7H AF *M%— 7‘;/«}3}% W
2t H2E BE(120)2%E JE® 25 #apdoz A 1 AE5(330), dAF g 1

(14), A AE(10) el Al 1 9] A22H12), Al 2 92 &Ex(16), A 2 1%(350), 27 7]13(360), 1

) =

2o Al 3 WE(380a)S Foll HAE BE(12002 E9dn. HAE #5100 23 AS2FH A didE
(1009 Al 1 42 @x(14) H A 2 A4 @A16)9] dd FEH T 2 AUH 54O dE gRE

R iR
o= e 27(400a) 0 FAES] TS dAE AR

Sh9-7d (420a)2 A 1 =A (32009 A 2 =A(340)E 7HA=, A 1 +A(32008F Al 2 #A(340)= A= o] &
2 7hs% tEE 7T Al 1 BAG20)E BAE §Y (1000 A AAEa, Al 2 EAG40)0E A5 (20
0)ell 14 AXHETh. HAE F45(100) dole Al 1 5A4(32008 HAE F5(100)0] 14st= A2 o (240) 7
AT AAY(240) = AR T T3l FAE ASAA FAE 7T Al 1 5A(320)+= AA W (240)
el Al Sl A4Y A", A 1 54032009 4H Fdd= AAF tE(10)e] Fole £(328)0] FA
Aok A 1 BA320)0= B4 A 1 EE(322)0] ARG, Al 1 BE5(322)8 3(328)9 AW A 1 B4
(320)9] A —% sl Hekom AEIEE JAHET. A 1 TE(BE22)S HAE BRE(12009 A 1 H=E 2 A
1 5A41(320)9 +(328) Wl F HAF FE(10)9] tHe] AFE A 1 A2 dAE(14) 7 5174] A€
o A 1 FE(322)0E AEd A 1 BE(330)0] AYHETt. Al 1 EA(320)004 £(328)0] XY 9SG w1
o= Al 3 TE(326)0] FAEY. A 3 TE(326)L A 1 EA(320)9 AAY spHS At WEkoe J& ==
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3 EE(326)S 27 71F(360)9) Al 2 HEE(364) R HAE HE(12009 A 2 Si=5(124) 7 o
Al A= T Al 3 5 (326)= ded Al 3 WE(380a)°] AYE.

5
27 713H(360)2 Al 2 wA(340)9F WE2(200) Atolddl XY, A 71#(360) T A 2 wA(340) = WA=
AlHA &%) T3 22 A4 Fetol o8 AME(200)0] g dRH},

A1 wA320)9F Al 2 wA(340)7F Agtd o, Al 2 FA(340)= A 1 A(320)9] &(328) el fAE
A1 FA320)9] A Al 2 FA4(340)¢] A2 AR L FHRELN AXAT. Al 2 FAG40) M=
o A 2 EE(342)0] FAFHT. Al 2 TEB42)2 Al 2 FA(340)9] AT stAS st W fz, o7 PEIE
F4du. A 2 5(342)" A1 FA320)9] F(328) el Fl HAF tidE(10)9] Al 2 A4 da(16)5 %
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2 Al 1 =A3200¢F Al 2 FA(340) Al RE A FEH A, A A H(240) ¢+ AEH(200) R AlTE 5 3L

m_

moToE L
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S T el X Eh. w=e, o] A9, Al 3 5(326)" Al 2 FA(340)9 4 F(328)2] 915 GGl AT
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A2 AN SFE, A AE0)Y S ATE Ad BA(14)9] A Fejst JRe] ATH A o
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© 4t E 39 A gRe] Wy elolt)
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